SUKROMNE GYMNAZIUM

Roots

Calculate the following exercises

1.) Vi2-V3

4.) (BVT+V2) 3V7T-V?2)
6.) (vV2+v5—V3) (vV2+v5+V3)
8.) (V2+v5+V3)  (V2-v5—-3)

2.) (V11 —+/5)- (V11 +/5)
5.) (V3+v2)- (V12— VB)

3.) VIB- VB VT

7.) (2V3+V5) - (V3-2V5)

9.) V2-(V6—v3)—V6-(vV2—V3)—V3-(V6—2) 10.) V72 +V2
11.) (V10++v12) =2 12.) V60 +~ V15 13.) (615 — 35 +2v/10) = 2V/5

V3-V15 V2-V/12 2 Jy—
14.) 7 15.) NI E 16.) v2-v38
17.) (3¥/16 +23/54) - /4 18.) (2V/18+3V/12) + V6 19.) V16 =+ /2
20.) (V34 V2)- (V27— VB) 21.) (V20+ V4)+ V4
Clear the surds from the denominator
22.) % 23.) 3_2 = 24.) 6?_*3@

12 1 V2T -1
25.) NG 26.) . 27.) PV

V3 — V14 15 3v5 —5V3
28.) NG 29.) 273 30.) WV

44/15 + 512 2v/3 — V10 V6 —2v2
31.) i 32.) N 33.) NN
Calculate

1 1 21 12
s1) (14 5) = (1 5) ) VT (5 )
55 5v/5 8 3vV2—-2v3  V6-—2 V3 V6

36 (5—¢5+1—¢5‘3—¢5>'W§‘3) )T 2 Vi Va B Vais

(L+V5)?— (1 - V)

38.) G
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39, ﬁ+m+ﬁ—¢§2
DA\VE- VI VII+ B



SUKROMNE GYMNAZIUM

2 2
V3+ VIl VI1—+v3 V2+1
109 (m) (m) R E
42) VVIB+ 2+ V13 -2
VVIB+2 -/ Vi3 -2
Algebraic expressions containing exponent
Simplify
) 2p—3\ ~1 4q-1\ 2
48) (@7 =97 ) () (o)
4, —3\—2
45.) ((xx;y):g)yg) 46.) [n72-3n3- (6n)7"] 2 (2n1)0
- _ -1
—1.,27-3 . —9215 4 3°. m72 3.1
47.) 0,871 -a*b™°-1,5a7°b 48.) lm (m) ( 1 ) 16
2"t 4 6™ yot2 _ o
) ST gt %) ey
a2m+6azr+9 x2n_y2n
)~ 5 %) ey
-2 4 4—2 x?—1 1—an*  3gn—2 2
53.) gntl gnddgm 54.) 4x5 - 16z7—1  8antl
Calculate
1) . (5\ 1\ 2 . 1\ /3)° 1\ 2
o) (75) ~097-(3) -(55) s wm() -(3) - ()
—2
51 274 (3) - vE (v 38) (VD (VD) - (V)

Algebraic expression containing rational exponent

Simplify
13 13 (,2\% 3. (22y)"3
59 T2 60, W) ) 61y ) @)
x 4l (2y2) 3
2 I\ (a2
62) Y 63y D @) 64.) () e
(y©)? (z2)s y? (zy?)10
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Calculate
65.) V3-V3 66.) \/8 V4.2 67.) 1/5-§/§-<75
68.) j/;j 69.) V525 70.) V11 V1T
71.) v 72.) ﬁ'3\%'ﬁ
Simplify
73.) VT 74.) (/234222 75.) y3§\%7
76.) \/“7‘/673 77.) V2 -VEk 78.) Ym - m’
79.) ”f 80.) {3/174'31)3.\/5
—Vr 8+z\ 2?2-16 2 1+ z+2
81.) ( —z 2+ﬁ)' 4z 82.) 1+vz Vo—-1 1-z
2 Nz 6 2./t T+ zx
53 (4_\/5+1) (H\/El)_x—l 84.) f+f+< ST Ve W) (7=2)
1 i+l yz—-1\ x a”r+1 a"z—1
85.) (ﬁ_x+ﬁ—1_\/5+1)'x+1 86.) 31 at+1
87.) b2 +b-% b +b s
Yobr b3 b3 b3
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Solutions

(1.)6 (2.)6 (3.)45 (4.)61 (5.)2 (6.)4 + 21/102 (7.)—4 — 315 (8.)—6 — 215
(9.)0 (10.)6 (11.)v5 + V6 (12.)2 (13)3v3 — 2 + V2 (14.)3 (15.) % (16.) 2
(17)24  (18)2V3+3¥2 (1992  (20)1+vB4—v24  (21)v5+1  (22)%  (23)355
24)4+v2  (25)2v6  (26.) YL (27.) 19553 (28.)4v2 - 1v2T  (29)10V3 + 15

(30.) V15 — 4 (31.)5 + 2v5 (32.) V2 (33.) ¥10 (34.)2 + V3 (35.) 9 (36.)3v5 — 7
(37.)6v2—-3v3  (38)1  (39.)3 (40.) 41 (41)1 (42388

(43) %2 # 0 (44.) < o boe,d # 0 (45) zy,z,y # 0 (46.)4,n # 0 (47.) 3b2,a,b # 0
(48.)(%)7 m#£0 (49.) 22,2 # 0,2 # —6 (50.)y — 1,y # 0,y # —1 (51.)Z:J_r§,a,x7é:t3,y7é—1
(52.)z" t + a7y 2 £ 0,2 # y" (53.) =3(z?> ™ + ™),z # 0 (54.) — 5,2 # 0 (55.) —25
(56.) 2 (57.)4  (58.) 232 (59)z"%,2>0  (60.)yz,y>0  (61.)zzy2, 2,y >0

(62.)y3,y >0 (63) 2%,z > 0 (64. ) Wy, z,y >0 (65.)33 (66.) 247 (67.)53%

(68.)1 (69.) 53 (70.)11 (71.) 7" % ( )28 (73.)x%,2 >0 (74.) 2% ,2>0

(75.) y2i,y >0 (76.)1,a > 0 (77 )ke k>0 (78)mm>0 (79.)u=30,u > 0

(80.)b%3,b > 0 (81.)=3(x +4);z > 0Az # 4 (82)1 -, (83)8,2 > 0Az # 1
(84)1, 2> 0Nz #7 (85.) 2t x> 0Az #1 (86.) /2 (8T)b—1,b>0Ab#1
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